XAKJ

HRSI

80000088
i Alll il Ll i il i ll)
IessenRee

i il il il
resseRBeMN
LA L Ll L L Ld

(IIIITTI I 1Y
LLLAL Ll L L Lo

XAKJ

HBRSI

=

YUEQING XUANAO PNEUMATIC TECHNOLOGY CO., LTD.

/2N

St X 5IR

5 M S

HEE LRI IX

Add:Nanshan Industrial Zone Root, Wengyang

Hhilk: IIERBEHHEF

= bn % B F i

Product Selection Guide

0]
o)
> D
81
T -
T
0 r~
o ©
nalm_f.
8 o~
T~ ©
hvvu_,5rﬂ
NWw S h
..0\1,,7..
o) e Te)
neg_rf
‘|801
Uo
600 b
U((W
> %6
w O @ L
SELQ
oHm2
» B ¥ b

E-mail:yqxakj@163.com
https://ygxakj.1688.com

0577-61811899

Https://yqxakj.1688.com



4

FHHIN
HINKIH- SR

Quality lies mmm

in the process, The process is in the specification




® i i
XAKJ #EBsI BB S A
https://yqxakj.1688.com

L

. oD
XPCH 5|48 41 B i : :
XPC Series-Male staight XPC4-01 4 R1/8 6.5 20.5 10 3
XPC4-02 4 R1/4 9 19.5 14 3
XPCE-M5 6 M5 4.5 228 12 2
XPCB-01 [ R1/8 6.5 22.2 12 4
XPCE-02 6 R1/4 9 22.2 14 4
XPCE-03 6 R3/8 10 21.5 17 4
XPCE-04 6 R1/2 10 23 21 4
XPC8-01 8 R1/8 8 26.8 14 4
XPCB-02 8 R1/4 10 25.2 14 6
XPCB-03 8 R3/8 10 22.2 17 6
XPCB-04 8 R1/2 1 23.7 21 6
XPCA0-01 10 R1/8 8 30.7 17 4
XPC10-02 10 R1/4 10 31 17 6
XPC10-03 10 R3/8 10 29.5 17 8
FEDFESHIEERATRE—REWEFSLSHTANRERRARLEY . ADETBEFRIFERS) S0 O 0 O 5 O NS
BLRY, TREES, RIFELRINEE R, FRERBEXRFENL. e s e s T o 2
ADRE—MEURAHAEAR, EFFREER, RIUFREE, mRAEFTE, 2B ‘BEF—, #HE XPC12-03 12 R3E 10 30 19 8
ZL ARE, FRIMEY, HERYT, HMEAE, XERE, RETERSCNER, THLESLRSE e
S . : XPC14-04 14 R1/2 12 39 24 8
BRI KHEER, ZIRABEES, AREME, RN ERFHAEFARE. XPC16-03 16 R3/8 13 39 24 10
Yue Qing Xuanao Pneumatic S and Technolc 3 ompany of science and technology d XPC16-04 16 R1/2 15 39 27 12
production of various pneu ic units anc i ur major pr ts are gquick-connection pneu ic j : L=y
throttle i 3 : will also manufacture the products as per the drawing and samples ; e
T & T v L
provid : SR ol NS T O e Lo XPCF#3|-R IR Hil XPCF4-M5 4 M5 6.5 24.4 10
Jur ¢ ( a Iro als, ¢ 3 ed production .anq T(J‘stlrj'g devic XPCF Series-Female staight XPOEAD ] S g S ]
of Quality comes fir bilit the mo XPCF4-02 4 R1/4 1 28.8 15
. Moreo our prices are reasonable and the XPCF6-M5 P M5 6.5 24' 12
ell sold all over the world. XPCF&-01 & R1/8 9 o8 12
armly welco all the old and ne stomers to vis ur company fc ving advice d CO ration, making a sple XPCF6-02 6 R1/4 11 30 15
tomorrow hand in hand! XPCF6-03 6 R3/8 12 30.5 19
XPCF6-04 6 R1/2 12.5 31.5 24
XPCF8-01 8 R1/8 9 28.5 14
XPCF8-02 8 R1/4 11 30.5 15
= . . — XPCF8-03 8 R3/8 12 31 19
15X S8 #E L Quick plug type pneumatic joint 01-07 e ) s P e e
prpm " XPCF10-01 10 R1/8 9 32.4 17
EARXAPE FI S 80#% 3k Inserttype XAP seriespneumaticjoint  08-10 XPCF10-02 10 R1/4 1 34 17
XPCF10-03 10 R3/8 12 34 19
S o ti7#ZE L Pneumatic quick joint 11-12 XPCF10-04 10 R1/2 12.5 as 24
XPCF12-01 12 R1/8 9 a5 19
‘F‘.ﬁ[gﬂj Cylinder series 13-16 XPCF12-02 12 R1/4 11 35 19
contents XPCF12-03 12 R3/8 12 35 19
SC/SU #R#S 4 SC/SU standard cylinder 13 XPCF12-04 12 R1/2 12.5 36.5 24
a ) XPCF16-03 186 R3/8 16.5 46.4 24
S[ *ﬂ;fﬁ%ﬂ Sl Standard C}‘|IF'IC|EI' .............................................................................. 13 B PR s e o e 5
QGB #x# % I QGB Standard Cylinder 13
DNC #7# S EL(FF &1S064314R4) DNC standard cylinder (standard 1ISO6431) — 13 XPLE 5188 40 & i D
CQ2 M S 4 CQ2 coMpAct CYlINABF oo 14 §I_ 4 10
: XPL Series-Male elbow XPL4-01 4 R1/B 7 26.5 10 19.7
SDAH & S SDA compact cylinder 14 XPL4-02 4 R1/4 g 28 14 107
MAL%%:&:&WF\&I MAL Aluminum Alioy Mini Cylinder .................................... 14 XPLE-M5 6 M3 4.5 27.5 12 20.8
XPLE-01 6 R1/8 7 27.5 12 20.8
MAZT 45 ### fR S & MA Stainless Steel Mini Cylinder 15 SRR H i B It 5 S
CJ2RFEWMEMRS 4 CJ2 Stainless Steel Mini Cylinder e 15 XPLE-03 6 R3/8 10 30.5 17 20.8
,. : e XPLE-04 6 R1/2 1 32 21 20.8
CM2A $E M fR S5 CM2 Stainless Steel Mini Cylinder 15 XPLE-01 a RA/8 5 31.7 a4 P
CJPB (#1E A) $t 8IS & CJPB (Single acting) pin cylinder i | XPL8-02 8 R1/4 10 33.8 14 23.5
e ; XPL8-03 8 R3/8 10 33.8 17 23.5
CXSMI IS A CXSM dual-rod cylinder s 16 XPLE-04 a Ril2 14 355 21 23 5
TN(TDA)Z %S & TN(TDA) dual-rod cylinder 16 XPL10-01 10 R1/8 8 35.5 17 27.4
. —— . . XPL10-02 10 R1/4 10 37.5 17 27.4
CUZ% fil & 23S #1 CU multi-position installation cylinder e 16 XPL10-03 10 R3/8 10 38 17 27.4
MOB32 2 jh ifii [E &I MOB Light oil hydraulic cylinder 16 XPL10-04 10 R1/2 11 38.6 £ 27.4
- i i ey s XPL12-01 12 H‘”B B 38 ‘Is 30'3
HOBHE & i i [E &1 HOB Heavy oil hydraulic cylinder 16 T 5o S 5 i P o
. : 2 XPL12-03 12 R3/B 10 40.5 19 30.3
i R & 5] Solenoid valve series bbb et S 5 g 55 S5
XPL14-03 14 R3/8 12 42.5 24 30.3
4B Z 1] Air source treatment series XPL14-04 14 R1lZ 15 45 24 30.3
XPL16-03 16 R3/8 15 50 24 34
PUE. EE. W44 PUpipe, spring pipe, blowing dust gun XPL16-04 16 R1/2 15 50.5 27 34

XUANAO PNEUMATIC PAGE 01



XAKJ w85

https://ygxakj.1688.co

XPBRJII-BYE=iE
XPB Series-Male branch tee

—
& ||

) bation
XPB4-M5
XPB4-01
XPB4-02
XPBE-MS
XPBE-01
XPBE-02
XPBE-03
XPBE-04
XPB8-01
XPB8-02
XPBB-03
XPBB-04
XPB10-01
XPB10-02
XPB10-03
XPB10-04
XPB12-01
XPB12-02
XPB12-03
XPB12-04
XPB14-03
XPB14-04

cooao 0ok s B

- ®
o

10
10
10
12
12
12
12
16
i

M5

R1/8
R1/4
M5

R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R3/8
R1/2

37.5
40
40

46.3
47.3

18.6
18.6
18.6
20.8
20.8
20.8
20.8
20.8
22.9
22.9
22.9
22
27.8
27.8
27.8
27.8
295
29.5
29.5
29.5
345
34.5

R\ [T

Quick plug type pneumatic joint

XPD# 51 -48 & = i&
XPD Series-Male run tee

atric infubation
XPD4-M5
XPD4-01
XPD4-02
XPD6-M5
XPD8&-01
XPD6-02
XPD6-03
XPD&-04
XPD8-01
XPD8-02
XPD8&-03
XPD8-04
XPD10-01
XPD10-02
XPD10-03
XPD10-04
XPD12-01
XPD12-02
XPD12-03
XPD12-04
XPD14-04
XPD16-04

[ - = = R B B = R R Y

- ®
=

10
10
10
12
12
12
12
186
16

M5

R1/8
R1/4
M5

R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3r8
R1/2
R3/8
R1/2

44
44
47.5
47
48.5
51
51.5
54
54
55.5

58
G4 2
67
66
67
67
68.8
68.8
70

85

18.4
18.4
18.4
20.8
20.8
20.8
20.8
20.8
22.8
22.8
22.8
228
38.3
38.3
28.3
283
29.6
29.6
29.6
29.8
35

35

10
10
14
12
12
14
17
21
14
14

21
17
AT
17
21
19
19
19

24
24

XPXEF|-YRIIR Ly = &
XPX Series-Male"Y"

ﬁ

KPX4-01
XPX4-02
XPX6-M5
XPX6-01
XPX6-02
XPXE-03
KPXE-04
XPX8-01
XPX8-02
XPXa-03
XPXa-04
XPX10-01
XPX10-02
XPX10-03
XPX10-04
XPX12-01
XPX12-02
XKPX12-03
XPX12-04
XPX16-03
XPX16-04

e == = B I = » = = T

= o
(=1 =]

10
10
i2
12
12
12
16
16

M5

R1/8
R1/4
M5

R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R3/8
R1/2

52.5
53.5
55
56.5
58
58
59
62
70
70
65

10.8
10.8
10.8
13.4
13.4
13.4
13.4
13.4
15.8
15.8
15.8
15.8
19

19

19

19

21.5
21.5
21.5
21.5

| PCS/box

=R
Werght (g))

02 PAGE XUANAO PNEUMATIC

XAKJ #8851

RIERX KBS

Quick plug type pneumatic joint

HE
L atric intubation
Xpuﬁy!]-ﬁﬁ : r XPU-4 4 32.5
XPU Series-Union straight XPU-6 6 35.5
XPU-8 8 38
XPU-10 10 47
XPU-12 12 47.5

XPU-14 14 475
) @ XPU-16 16 67

'

DRI - -

% Metric intubation | | _
XPVﬁﬁ{J-ﬁﬁ E XPV-4 4 18.4 / /
XPV Series-Union elbow o XPV-6 6 205 7.5 3.5

i XPV-8 8 235 a5 4.5
XPV-10 10 27.4 11.5 45
XPV-12 12 35.3 18.5 5
XPV-16 16 338 16 4

XPERJI-TER =&

by = +0 XPE-4 4 36.6 18.3 ! !
XPE Series-Union tee XPE-6 & o) 205 16 a5
XPE-8 8 46 23 20 45
XPE-10 10 56.6 28.3 24 4.5

XPE-12 12 58.6 29.3 27.7 5

XPE-14 14 60.8 30.4 25.8 4

XPE-16 16 (1] 34.5 33 4

3l

XPYRY|-YBI =&
XPY Series-Union "Y"

XPY-8 8 42.5 15.5 4.5
XPY-10 10 48 a5 4.5
XPY-12 12 54 21.5 4

XPY-14 14 65.5 25 5.5
XPY-16 16 65.5 27 5.5

"

IR E ]

XPZAZF|-MMiE 5 — 4 19 12.9 _
XPZA Series-Union cross 6 22.5 19 4
8 23 19 4
XPZA-10 10 26.7 21.8 4
XPZA-12 12 33 25 4

gﬁ
=

XUANAO PNEUMATIC PAGE 03



XAKJ #8251 B R S B XAKJ #8851 RIERSHEL
hitps://yaxakj. 1688.com n

https:

S , ;
L Metric intubation ' L r
XPK# §I‘]-£:|E i 2 XPK-4 4 61.5 36.8 12 2.5 XPKGﬁ;}]-ﬁ:@ﬁE g i . XPKG6-4 [ 4 79 54.8 177 4
XPK Series-Union triple XPK-6 6 20 54.8 17.5 4 XPKG Series-Different diameter union triple XPKGB-6 8 6 80 54.8 17.7 4
XPK-8 8 80 54.8 17.5 4 XPKG10-8 10 8 96 62.4 20.2 4
XPK-10 10 96 62.5 20.4 4 XPKG12-10 12 10 12 71 23 4
XPK-12 12 112 71 23 4 XPKGB-4 8 4 81 56.5 18 45
XPKG10-6 10 6 96 62.4 20.2 4
XPKG12-8 12 8 12 71 23 4
aw - : |5
XP G ﬁ ;Il E iE ﬁ & tric |r:ﬁt?minn : XPM ? §|l E ﬁ E jﬁ ai‘r‘.?t-ﬁl:%:ﬁi-n.n
v/ 5 . . XPG6-4 6 4 35 i . XPM-4 4 M12x1.0 34.5 14
XPG Series-Different diameter atraight XPGE-6 8 6 355 XPM Series-Bulkhead union XPM-6 6 M1431.0 a7 17
i XPG10-8 10 8 38 XPM-8 8 M161.0 37 19
—— vor XPG12-10 12 10 47 XPM-10 10 M201.0 45 24
—r— Ry XPG16-12 12 12 475 XPM-12 12 M223%1.0 46.4 27
- ‘ ¢ XPG8-4 8 4 47.5 XPM-16 18 M281.0 59 32
o - XPG10-6 10 6 67
I XPG12-8 12 8 67
o =|®
—— T
ST SO | I

—_ RIS Model =S Model <= Model
XPEGR5]-= il % & ; XPMF#R 31|57 4 P 1R 41 XPMF4-M5 |
XPEG Series-Different diameter union tee XPEGE-6 8 6 45 18 228 45 XPMF Series-Bulkbead female straight XPME4-01 XPMFB-02 XPME12-02

XPEG10-8 10 8 51 24 19.8 4.5 XPMF4-02 XPMF8-03 XPMF12-03
XPEG12-10 12 10 59 28 24.5 5 XPMF6-M5 XPMF8-04 XPMF12-04
XPEG16-12 18 12 9 34 322 4 XPMF6-01 XPMF10-01 XPMF14-01
XPEGE-4 8 4 46 18 20 4.5 XPMF6-02 XPMF10-02 XPMF14-02
XPEG10-8 10 6 57 26.8 23.8 4 XPMF6-03 XPMF10-03 XPMF14-03
XPEG12-8 12 8 59 27.8 27.6 5 XPMF6-04 XPMF10-04 XPMF14-04

Y

=

BE Model S Model [ BE Model

XPEGDRJ|-=# ¥ & XPEGD6.4 6 4 40 20 16 35 XPLLAR51-% 3k hn i< XPLL4-M5 XPLLB-01 XPLL12-01
XPEGD Series-Different diameter union tee XPEGDS-6 8 6 45 23.2 20 45 XPLL Series-Extended male elbow XPLL4-01 XPLL8-02 XPLL12-02
XPEGD10-8 10 8 55 28.3 24 4.5 XPLL4-02 XPLL8-03 XPLL12-03
XPEGD12-10 12 10 58 29 27.8 5 XPLLE-M5 XPLL8-04 XPLL12-04
o B TN XPEGD16-12 16 12 68 34.5 33.5 4 XPLLE-01 XPLL10-01 XPLL14-01
XPEGD8-4 8 4 44.5 23 19.7 45 ' XPLL6-02 XPLL10-02 XPLL14-02
. XPEGD10-6 10 6 54.5 28 24 4 gy . XPLL6-03 XPLL10-03 XPLL14-03
- 01 XPEGD12-8 12 B 56 29.3 27.8 5 ; XPLL6-04 XPLL10-04 XPLL14-04

Ll e & £ 74

P = h - b

- -

) i ] ’ &2 Model #IE Model
XPW§ ;“—Yﬂiﬁﬁ& ) = i1 4 38 13.5 3.5 prBﬁﬂ_ﬁ&ﬁﬂiﬁ APKBG-4-01 XPKB10-8-01
XPW Series-Different diameter union “Y” 8 6 42 16 g XPKB Series-Different diameter male union triple XPKB6-4-01 XPKB10-8-01
10 8 48 18.8 45 XPKB8-6-01 XPKB12-10-01
XPW12-10 12 10 60 20.5 4.5 XPKB8-6-01 XPKB12-10-01
XPW8-4 8 4 42 16 4
XPW10-6 10 6 48 18.5 4
XPW12-8 12 8 52.5 21.2 4

)

04 PAGE XUANAO PNEUMATIC XUANAO PNEUMATIC PAGE 05



XAKJ §ESI B9 S A 1B XAKJ F#ES RIBRSHES

nips /)yl 1638.com

LT | :
XPLFR5I-% 5 A B4 e ——— C— XSLE 3-8 % ik B
XPLF Series-Female elbow 0 XPLF4-01 4 R1/8 17.6 / XSL Series_Speed controllers valve XSL4-01 4 R1/8 g 25 12 24.5 15.6
AELFP4-02 d tia k) 2 17 175 -~ XSL4-02 4 R1/4 12 43 15 25 19.2
XPLF6-M5 :
XPLE6-01 6 R1/8 9 26.2 12 20.6 3.5 XSL6-M5 6 M5 o 28 8 24 1.4
XPLF6-02 & R1/4 11 29.3 15 20.6 3.5 XSL6-01 6 R1/8 9 25 12 24.5 15.6
XPLF6-03 & R3/8 11 29.3 17 20.6 3.5 XSL6-02 6 R1/4 12 43 15 25 19.2
XPLF6-04 & R1/2 13 29.3 19 20.6 3.5 XSL6-03 6 R3/8 12 46 19 29.2 20.6
XPLF8-01 8 R1/8 9 28.8 14 22.6 4.5 XSL6-04 6 R1/2 13 50 22 a6 23.4
XPLF8-02 8 R1/4 11 3.8 17 226 4.5 XSL&-01 8 RrR1/8 9 25 12 245 15.6
XPLF8-03 8 R3/8 i 33.3 19 22.6 4.5 ¥SL8-02 8 R1/4 12 43 15 25 19.2
XPLF8-04 8 R1/2 13 39.5 24 27.4 4.5 XSLE-03 8 R3/B 12 46 19 29.2 20.6
XPLF10-01 10 R1/8 9 37.2 17 28.8 :.5 SYETRTH 5 B 9a - 55 S i
XPLF10-02 10 R1/4 1 37.2 17 28.8 5
XPLF10-03 10 R3/8 1 38 19 28.8 4.5 XSL10-01 10 R118 g 25 12 24.5 15.6
XPLE10-04 10 R1/2 28.8 4.5 XSL10-02 10 R1/4 12 43 15 25 19.2
XPLF12-02 12 R1/4 11 a6 19 3z.2 5 XSL10-03 10 R3/8 12 46 19 29.2 20.6
XPLF12-03 12 R3/8 11 39 19 32.2 5 XSL10-04 10 R1/2 13 50 22 36 23.4
XPLF12-04 12 R1/2 13 41 24 32.2 5 XSL12-02 12 R1/8 12 43 15 25 19.2
XSL12-03 12 R3/8 12 46 19 29.2 20.6
. ¥ . XSL12-04 12 R1/2 13 50 22 36 23.4
XPKD#E 5| -2 & 11 il XPKD4-M5 4 M5 4.5 10 36.8 12 2.5
XPKD Series-Male union triple XPKD4-01 4 R1/8 7 10 36.8 12 2.5
XPKD4-02 4 R1/4 9 14 36.8 12 25
XPKD6-M5 6 M5 4.5 12 54.8 17.5 4
XPKDG-01 B R1/8 T 12 54 .8 17.5 4 2 Model
XPKD6-02 & R1/4 9 14 54.8 17.5 4 XPARG-BEYRE P
XPKD6-03 8 15309 10 17 348 17.8 4 XPA Series-Pipe speed control valve e
XPKD6-04 6 R1/2 1 92 21 54.8 17.5 4
XPKDB-01 8 R1/8 8 89 14 54.8 17.5 4.5 XPA-8
XPKDEB-02 8 R1/4 10 90 14 54.8 17.5 4.5 XPA-10
3 XPKDE-03 8 R3/8 10 91 17 54.8 17.5 4.5 XPA-12
XPKDE-04 8 R1/2 11 93 21 54.8 17.5 4.5
XPKD10-01 10 R1/8 8 17 62.5 20.4 4
- XPKD10-02 10 Ri/4 10 iv 62.5 20.4 4
XPKD10-03 10 R3/8 10 17 62.5 20.4 4
XPKD10-04 10 R1/2 11 124 21 62.5 20.4 4
XPKD12-02 12 R1/4 10 19 71 23 4
XPKD12-03 12 R3/8 10 19 71 i 4
XPKD12-04 12 R1/2 11 21 71 23 a
XPHEFI-5b7< fa 13k XPH4-M5 4 M5 4 19 8 24.2 12.7
REREAr g e e A e S S
XPH4-02 4 R1/4 11 28 15 24.2 19.2 XHVFF&¥|-F e
. XPHE-M5 6 M5 4 19 8 24.2 12.7 XHVEF Seri Pi ksl XHVFF-4
XPHE-01 6 R1/8 9 25 12 24.2 15.6 arias=kLipa:SwWiteirvaive XHVFF-6
XPHE-02 6 R1/4 11 28 15 24.2 19.2 XHVFF-8
XPHE-03 6 R3/8 11 33 19 28.8 20 XHVFF-10
XPHE-04 6 R1/2 13 39 g 36 24.8 XHVFF-12
. XPH8-01 8 R1/8 [} 25 12 24.2 15.6
e XPHB-02 8 R1/4 11 28 15 24.2 19.2
! XPHE-03 8 R3/8 11 33 19 28.8 20
A "H— XPH8-04 8 R1/2 13 39 22 36 248
) ] XPH10-01 10 R1/8 9 25 12 24.2 15.6
m XPH10-02 10 R1/4 11 28 15 24.2 19.2
= XPH10-03 10 R3/8 11 33 19 28.8 20
1 ri L XPH10-04 10 R1/2 13 39 22 36 248
* T XPH12-02 12 R1/8 11 28 15 24.2 19.2
XPH12-03 12 R3/8 11 33 19 28.8 20
XPH12-04 12 R1/2 13 39 22 36 24.8
&S Mode #E Model
XPHF& 5| - B B 35 3L ! : £ ﬁ_ﬂ_ﬁﬁ#% g PC-C 3-M3 POC-C 3-M3 PL-C 3-M3
XPHF4-M5 4 M5 M5 4 4 19 8 24 12.5 Miniature quu:k]u-lnt PC-C 3-M5 POC-C 3-M5 PL-C 3-M5
XPHF Series-Female & male elbow XPHF4-01 4 R1/8  R1/8 9 9 32 12 266 17 PO-C 3-01 POC-C 301 PL-C 53-01
XPHF4-02 4 R1/4 R1/4 11 1 35 15 25 18.8
0 XPHF6-M5 6 M5 M5 4 4 19 8 24 12.5 RSAMG EOCCEANS BICREM
XPHF6-01 6 R1/8 R1/8 g 9 32 12 25 17 PC-C 4-M5 POC-C 4-M5 PL-C 4-M5
XPHEG-02 6 R14 R14 1 1 35 15 266 19 PC-C 4-01 POC-C 4-01 PL-C 4-01
XPHF6-03 & R3/8  R3/8 11 1 44 19 20 PC-C 4-02 POC-C 4-02 PL-C 4-02
XPHF6-04 & R1/2 R1/2 13 13 46 24 22.4 PC-C 5-M5 POC-C 5-M5 PL-C 5-M5
H . XPHF8-01 8 R1)8  R1/8 9 9 32 12 26.2 17 PC-C 5-01 POC-C 5-01 PL-C 5-01
"{ = XPHF8-02 8 R1/4 R1/4 11 1 35 15 27.5 19 PC-C 5-02 POC-C 5-02 PL-C 5-02
P XPHF8-03 8 R3/8  R3/8 11 1 a4 19 322 20 PC-C 6-M5 POC-C 6-M5 PL-C 6-M5
XPHF8-04 8 R1/2 R1/2 13 13 46 24 22.4 PC-C 6-01 POGC-C 6-01 PL-C 6-01
H XPHF10-01 10 R1/8 R1/8 ] 9 32 12 17 PC-C 6-02 POC-C 6-02 PL-C 6-02
= P\ J_L XPHF10-02 10 R1/4  R1/4 11 1 35 15 19
| | XPHF10-03 10 R3/8  R3/8 11 11 44 19 20
I i ki XPHF10-04 10 R1/2  R1/2 13 13 46 24 22.4
3 I M= XPHF12-02 12 R1/4 R1/4 1 1 35 15 a6 18
J XPHF12-03 12 R3/8  R3/8 11 1 a4 19 35 20 PL-C
XPHF12-04 12 R1/2 R1/2 13 13 46 24 22.4

06 PAGE XUANAO PNEUMATIC XUANAO PNEUMATIC PAGE 07



XAKJ #8510 1 A XA PR 51 < 3 12 3 XAKJ #BSn 1% A\ XX APE 5 < 5 48 5

https://ygxakj.1688.com Insert type XAP series pneumatic joint

https://yqxakj.1688.com Insert type XAP series pneumatic joint

" = Modeld(mm) S Lo ,._._‘_"_'_ L , " = Modeld(mm) | L3 D
XAPC'Q#'?E*. : M5 9 21 5 60411 XAPL"‘ﬁﬁH.ﬂE.% M5 10 19 17 5 9
XAPC Terminal fittings XAPL-L Cartesian nipple
M6 x 0.75 9 21 5 60412 ek = CAPLL 43 M6x0.75 10 19 17 5 9 60452
XAPC-d 4 M8 x 1 10 19 6 60410 (BIEfE & EiRa1360° 1E4e) G1/8" 10 19 19 7 9 60453
il (After taking over the fixed end can be rotated 360° )
M10x 1 12 19 7 60413 G1/4" s CI P 9 60454
G1/8" 10 19 7 60414 M6x0.75 10 235 18 5 12 60651
M6 x0.75 12 24 5 60611 M10x1 12 235 20 7 12 60652
T M10x 1 12 24 7 60612 : XAPL-L®G G1/8 10 235 20 7 12 60653
G1/8" il 24 7 60613 G1/4" e e e | © 12 60654
G1/4" 14 22 9 60614 M10x1 12 26 21 7 14 60851
M10>-<"1 14 29 7 60811 XAPL-L$8 G1/8" RS 14 60852
SRELLHE G1/8 14 29 7 60812 G1/4 14 26 23 9 14 60853
G1/4" 14 27 9 60813 G3/8" 17 26 24 10 14 60854
G3/8" 17 23 10 80814 G1/8" 14 29 22 7 16 61051
T o 61012 e T R U T
XAPGC-$10 .
G3/8 iz 30 10 61013 G1/2" 21 29 27 12 16 61054
G1/2" 21 25 12 61014 G1/4" 16 31 26 9 18 61251
G1/4" 19 30 9 61211 XAPL-L$ 12 G3/8" 17 | 31 | 27 10 18 61252
XAPC-$12 G3/8" 19 30 10 61212 G1/2" 21 31 29 12 18 61253
G1/2" 21 32 12 61213 BT G3/8" 21 335 29 10 20 61451
G3/8" 21 30 10 61411 5 G1/2" 27 335 31 12 20 61452
XAPC-$ 14
G1/2" 21 32 12 61412
RS Modeld(mm) | = |k D | JI
: XAPLF-LBELfis A 4R 4 3% 5k - _—

- E/S Modeld(mm) | . E XAPLE-LB Cartesian threaded joints o e
XAPOC-A[E # 75 48 i 3% & ' <& . PLE- M6x0.75 10 19 16 6 9 60002
XAPOC-A Cylindrical terminal fittings XAPOC-A 4 M = 2 : 28 (Bl /5% EIRAI360° bEst) XARLF-LB 24 G1/8 12 19 18 8 9 60003

- Y a M6 x0.75 20 E 5 2.6 (After taking over the fixed end can be rotated 360° ) _
’ M6 0.75 53 13 5 20 G1/4 16 19 20 10 9 60004
/+\ XAPOC-A b6 M10 x 1 21 12 77 4 M6 x0.75 10 23.5 17 6 12 60005
@) cle 2t 12 7 4 XL LB aE e 1o b 1z 00007
S M10x 1 27 14 7 5 3.5
F G1/4" 27 14 9 5 G1/4" 16 235 21 10 12 60008
G1/a 33 16 9 5 M10 x 1 13 26 20 8 14 60009
SHEE XAPOC-A¢10 . \
G3/8" 30 16 10 6 RABEELESE G1/8 TzliEZslEClE 14 60010
XAPOC-A & 12 Gl 33 18 9 8 G1/4" 16 26 22 10 14 60011
—1 ]ﬂ G3/8' 30 18 10 8 G3/8" 19 26 22 10 14 60012
G1/8" 14 29 21 8 16 60013
, B ) G1/4" 16 29 23 10 16 60014
— : ! . XAPLF-LB410 G3/8" 19 29 23 10 16 60015
XAPCF-BN Hﬂ&#{ = P‘."‘D(JE|(H_II’1ITI..I | 1 z . N | _I:: UID G1/2" 24 29 24 12 16 60016
X o : M6 x0.75 10 21 10 . I G1/4" 16 31 245 10 18 60017
XAPCF-B Threaded ]omts XAPCF-Bd 4 G1/8" 12 26 12 60462 |
RELLS 12 28 12 Dod0? o | XAPLF-LB$ 12 G3/8" 17 31 245 10 18 60018
. x arl ! G1/2"
worss YA R B e =1HIN il M
M14x1.5 17 31 15 60861 ' XAPLF-LB ¢ 14 '
XAPCF-B$8 S e 4 aE BrEED M G1/2" 24 335 285 12 21 60021
e i TR 17 2 ik ALl _  ETIETIESH -
. — 8= Modeld(mm) 3
XAPCF-B 12 A 23 oo 1% AT XAPB-E = ifi o &) 88 4 $& 3k —_— M5 10 185 17 5
- XAPB-E Tee Central nipple ;
MG L XAPB-E ¢4 M6 x0.75 o 8N T 5
(BEREEIRA360° [EiE) G1/8" 10 18.5 19 5
(After taking over the fixed end can be rotated 360° ) :
M0 x 1 12 24 20 7

. XAPB-E¢6 G1/8" 10 24 20 7
ii:m:ggfgﬁﬁﬁs*lkh dc t XRMS T Minst = = : oy A ——

raig u ea onnecior XAPM-S &6 M14x1 17 35 10 G1/8" 12 26.5 21 7

XAPM-S 08 Tt 7 = e XAPB-E &8 G1/4" 14 | 265 23 9
L XAPM-S 10 M18 1 22 40 13 2o A
3 G1/4" 14 | 295 | 23 9 61031
= i:m‘:d‘bﬁ mgg"l g‘; jg 12 XAPB-E 610 G3/8 17 295 25 10 61032
1 3 “I =2 " G1/2" 21 29.5 27 12 61033
— G1/4" 17 315 26 9 61231
K. \I XAPB-E 612 G3/8" lra|DER G 10 61232
G1/2" 21 31.5 29 12 61233

08 PAGE XUANAO PNEUMATIC XUANAO PNEUMATIC PAGE 09



XAKJ #8510 1A\ XAPE 5l < 5 2 & XAKJ #BSn 3t 55 48

https://ygxakj.1688.com | Insert type XAP series pneumatic joint https://ygxakj.1688.com : Pneumatic quick joint
XAPH Qiﬁﬁgfﬂﬁﬁﬁ%(e}ﬁm BE%) *::I;gg [-\,.-]{j_-,(je|d[:ﬂ-1 m ) | S ﬁﬁ‘chﬂ Quick twist PC series ‘F’fPCﬁ §|l Cutting sleeve PC series iiﬁPcﬁ §|I Pagoda PC series
! I PC4-ME  PC8-01 PC12-02 PC4-M5 PC8-02 PC12-02 PCE-01 PC10-01 PC14-02
XAPH-Q Cartesian articulated joints can be rotated (360° rotation) XAPH-Q ¢4 M5 8 20 12 o PC4-M5 PCB-02 PC12-03 PC4-01 PC8-03 PC12-03 PCGE-02  PC10-02 PC14-03
% XAPH-Q & 4 M6 x0.75 8 20 12 5 PC4-01 PC8-03 PC12-04 PCE-M5 PC8-04 PC12-04 PCG-03 PC10-03 PC14-04
/"" s | 1 XAPH-Q &6 G1/8" 12 25 15 7 PC4-02  PC8B-04 PC14-04 PCE-01  PC10-01 PC14-04 PCE-04  PC10-04 PC16-04
“FTY T PCE-MS  PC10-01 PC16-02 PCE-02 PC10-02 PC16-02 pPCca-01  PC12-01 PC16-06
. | XAPH-Qd6 M6 x0.75 8 20 173 5 PC6-01 PC10-02 PC16-03 PCG-03 PC10-03 PC16-03 PC&-02 PC12-02 PC19-04
A s SR ey [ 0 XAPH-Q&8 » 12 25 15 7 PC6-02 PC10-03 PC16-04 PC6-04 PC10-04 PC16-04 PC8-03 PC12-03 PC19-06
= I H piae PCE-03  PC10-04 pPCca-01  PC12-01 PCa-04  PC12-04
| XAPH-Q¢ 8 G1/4" 14 AT 5 9 P06:04 PC12:D1 - - - -
3 i
_L’JM EEPLEW Quick twist PL series -F-fPLEﬂ Cutting sleeve PL EiﬁPLﬁﬂ Pagoda PL series
U M~ AalAf \ T : PL4-01 PL10-01 PL12-01 PLE-01 PL10-01 PL12-01 PLE-01 PL10-01 PL12-01
XAPU-IHifiEsL &S Modeld(mm) 1] S Order No. ' PL6-01 PL10-02 PL12-02 PL6-02 PL10-02 PL12-02 PL6-02 PL10-02 PL12-02
XAPU-1Th h " XAPU-144 30 10 90400 PL6-02 PL10-03 PL12-03 PL6-03  PL10-03 PL12-03 PL6-03  PL10-03 PL12-03
R LI L LG L XAPU-146 35 12 90600 PL6-03  PL10-04 PL12-04 PLE-04  PL10-04 PL12-04 PLE-04  PL10-04 PL12-04
PL6-04 PL8-01 PL8-01
L XAPU-148 a7 14 90800 PLB-01 PL8-02 PL8-02
XAPU-1410 40 16 91000 PL8-02 PL8-03 PL8-03
i ’ T t{ XAPU-1412 45 18 91200 PLE-03 PL8-04 PL8-04
= XAPU-1414
. JL L - A RIFEBR T Quick twist right angle series FEHEBERT Cutting sleeve through series FEZ@BRY Pagoda 2 through series
.13 13 DE
o8 o8 «8
& # = Modeld(mm) ]85 Order No.
XAPV-JE &L odeld(mm) 17 &5 Order No :12 :12 :12
XAPV-J Elbow ;::;:'j z: ;g 33231 o14 14 i
- 1 16 ©16 ©16
S I
. ! XAPV-J$8 25 90801
]CE kL XAPV-J 610 30 91001
B XAPV-dd 12 1201
| XAPV-J b 14 g? 31481 ‘EH’?EQPVEW Quick twist right angle PV series -E#EﬁPVﬁZﬂl Cutting sleeve right angle PV series ii%ziﬁﬁ}'ll Pagoda 3 through series
| PVOE PV®E @6
== PVD8 PVOE i ©8
PV 10 PV®10 @10
. B W RO S R | s 2 R PV®12 PV®12 12
XAPE T=i§*¥§: W= Modeld(mm) 1iTHS Order No. B0 14
XAPE-T Th;e-way XAPE-Td4 19 90402 PV 16 P
XAPE-Td6 23 90602
l - L XAPE-T$8 25 90802
Et{ iigé:iﬁ:g gg g:ggz 17 =B FE F Quick twist tee series FE=BERT cutting sleeve tee series EE=ETE EF Pagoda 3 through T series
XAPE-T 14 31 91402 - o -
@10 @10 @10
@12 @12 ©12
8 BIE Modeld(mm) iTH5S Order No.
- X = i e =S
fgi': ﬁég;?%%gg%” L XPF-X 04 10 19 90403
(After taking over the fixed end can be rotated 360° ) XPF-X 46 12 23 90603
XPF-X48 14 25 90803 ﬂﬁ;ﬁm;“ Quick twist string of board series ‘Rf%ﬁﬁ?ﬂ Cutting sleeve string of board series Eﬁﬁg;“ Pagoda 4 through series
L E XPF-X 10 16 30 91003 o6 PC4-M6 PC8-01 PC12-02 o8
XPF-Xd12 18 30 91203 o8 PC4-MS PC8-02 PC12-03 @10
A s @10 PC4-01 PC8-03 PFC12-04 :
- N XPF-X 414 20 31 91403 @12 PC4-02 PC8-04 PC14-04
l__ e PCG&-MS PC10-01 PC16-02
F E{ PCE-01  PC10-02 PC16-03
i | PC8-02 PC10-03 PC16-04
| PCE-03  PC10-04
[ PCE-04  PC12-01
AE Modeld!( . RIFEHEZEE I Quick twist changes dia. series FETZERS Cutting sleeve changes dia. series ¥ & ZE 5l Double nipple series
o &= Modeld(mm) P T e TR
XASS Ia*' ﬁ] 'ﬁu" M5 ©8-10 ©8-10 1f4 114-172 {0 Thickening)
XASL One way throttle valve XASL-d 4 21 15 10 ©8-12 ©8-12 a8 A2 Thckenieq)
" M6 x 0.75 : ©10-12 ©10-12 112
G1/8" 20 14.5 ol
i P 118-1/4
XASL-¢6 G1/4r 30 20 16.5 : 1/4-3/8
1/4-1/2
G1/8" 21 14.5 =
XASL-$8 —— 30 HENE
21 16.5 aﬁﬁ ﬁ_fPCFiEﬁI Quick twist inner nipple PCF series ‘F‘i ﬂ ﬁchﬁ il Cutting sleeve inner nipple series EiﬁPCFﬁﬂl Pagoda PCF series
XASL-b10 G1/4’ 36 24 16.5 PCFB-01 PCF10-03 PCF6-02 PCF10-03 PCFE-01 PCF10-01
= G3/8" 24 20.5 PCFB-02 PCF10-04 PCF6-03 PCF10-04 PCF6-02 PCF10-02
G3/8 25 20'5 PCFE-03 PCF6-04 PCF8-01 PCF10-03
: i PCF6-04 PCF8-01 PCF8-02 PCF10-04
XASL-$12 Gz 36 25 245 PCFa-01 PCF&-02 PCFB-03 PCF12-04
1_§§§§§§§§;%§§m&&. £E/MT L PCF8-02 PCFB-03 PCFB-04
? Install threaded pipe diameter and supporting arbitrary choice, gg,’zg:gj ESE2-04

on-demand processing.
2. The request can be processed into the throttle valve,

10 PAGE XUANAO PNEUMATIC XUANAO PNEUMATIC PAGE 11



XAKJ w85

https://ygxakj.1688.com

P 50 #E 3L B 5 inside and outside coupling series

ﬁlﬂliﬂl ﬁ E Double ball screw

SHRirEsk

Pneumatic quick joint

XAKJ #8851

S & 5

https://ygxakj.1688.com Cylinder series

FkinE IR F"’”"”m““'":'fa””“ SC/SU%s S I SC/SU standard cylinder

12 14
2:3 3/8 1/4
& = 2 sC 50<100 — N S FA
3:4 p— 1)2 l l l 1 l
1/8 34 A& B = TR FEETVAGEERS) wate EEIN Fixed type
174 &1 SCob i B Eh B T3 Bore x stroke N:SCHISCU = AT =k £3:] B':_"f'fi Bagic -
N SUAR B AN EH ) AT SHEE CAJEEHER(REE) S bedcoer Efﬁlqeiiarﬁnen
12 SCD:HS&&I&H&‘—'&[ Blank: Mo Adjustable Built-in magnets GB:E;E?‘:{E‘E%] FA: Fixed front cover (front flange }
SO0 il AT 0 BT ST (Standard) Blank:without FARIEEENEL) FB: fixed cover (back flange)
SCT.&MEEHE N: 5CJ/SCU Siwith FBEEBEEM(EEZ) LB: Tripod type
Adjustable travel LBz TC: Swing
. ¥ = H Series vale i
ﬁlﬂ’l‘ﬂiﬁ Ball screw pagode outside ;ﬁi“l&lﬁ;' Muffler (iron) series SC- Standard Double Action (tie rod) distance TCHRES TC-M: swing-plus feet
1:2 14 18 5U: Standard Double Action(tiebarlass) TC-M:5 B0 EE
1:3 3/8 114 SCD: Standard cylinder axis
23 12 a8 SCJ: Standard cylinder axis adjustable
2.4 12 SCT: multi-position Double Action
34 a4
4:6 G1
4:G1
6:G1
ﬁﬁﬁa Internal series ﬁﬁﬁﬂ"ﬂ Ball screw inside and outside ?.Hﬁiﬁﬁii Copper flat muffler
1/8 1/4 18
114 3/8 114
318 - 112 3/8
1/2 1/2
3/4
(B circular)3/4
== .
SIFAES L SI Standard Cylinder
P38 2 3L B Bl within the spiral elbow BK 8 5 98 Ball screw outside R B R T Plastic muffler series sl 50X50 — S _ N FA
118 1/4-8 01
114 114-10 02 l L 1 l l
38 3/8-8 03 Eneg &= iTE HEfte =il 340 B 5t Fixed type
12 38-10 04 IR -3 Eile] Bore xstroke = A B M:S1 FHBER e )
a4 112-8 06 51D S 575 SHEE CEGET CARBRER@ER (Hielone B
112-10 &1 B TE L) Bullt-in magnets Blank: No Adjustable  CB:REBIEMER) ¢4 biyed front cover (front flange)
1/2=12 Saries vala Blank: without [Standard) FABIS BE(BTE2) Fa:ficed cover (back flange)
5l: Standard Double Action Swith M Sl FB:E#BEEN(EE2) LE: Tripod type
SID: biaxial Double Action Adjustable travel LB:EpREst TC: Swing -
S1J: Adjustable biaxial distance TCmE TC-M: swing-plus feet ‘ -
TC-MAEHE =l
ShIRT LR T Qurer spiral elbow BK @ A 88 £ 12 Ball screw inside the pagoda B FE T ron plug series
18 1/4-8 18
114 1/4-10 114
3/8 3-8 . 3/8
112 3/8-10 12
— 1/2-8 — p =
1/2-10 3 QGB*JT‘ _\.EQGB Standard Cyhnder
QGB 125XX200 — S -  MF1
P‘]ﬂ..:_iiiiﬂ Inner screw 3 through series Hﬂiﬁﬂﬂ- Ball headed pagoda ﬁﬁ-ﬁ]mﬁ;ﬂ Brass check valve series l BHE l A4S x 782 l BMERS l EEat Built-in magnets
QGA-TE Bore x stroke A EEERY Blank: without
L L 48 QGB:#@ma ST MF1#pE=sy  ME1: frent flange siyla
114 @10 114 QGBZ:WE I tHER) Built-in magnets MF2EEZR  ibs: léf\fiks?:;&fe?ry:?ng
38 ! a8 Series vale Blank: without MP4ESRER  Mp2. End double ear rings
1/2 1/2 QGA: unbuffered Siwith MPZRERER MS1: Base style
34 QGB: with bulfered MS1EER MT4: Middle axle pin style
QGBZ: Heavy cylinders MT4:eh (S =
(Huaneng type) ’
Sh R = 3% 2 5l outside screw 3through series Eﬁﬁm Fast screwed ball valve ZEAETI Safety valve series
1/8 8-02 1/8
174 1/4 S o —y
a8 l D a8 DNCHrASEL( £751506431#%54) DNC standard cylinder (standard 1S0643
112 112
l 25e l 8 x 178 l SR FEER i SaEER l O H R RREET
DNG EHE Bore x stroke PPV i AFRBREFER S2:9W 5 4T
L 2 HING 38 o B A Blank: without cushion Blank: Basic S3AEERH(AER)
mﬂ]ﬁ*ﬂ Inner screw 4 through series ﬁﬂﬂﬁ;‘l Needle valve imﬁfﬁ;‘l 0il discharge series FNC R EZZ PPV with cushian A: Bullt-in Blank:E;asic
i SNCE: W E magnetic-lype {single-ended piston rod)
1/8 @6 238 Through SNCL-8 B & 52: double rod
114 T8 i Through B iaie 53 piston rod
38 @10 438 Through DNC:basic type (adjustable type)
112 ©12 - Sl Through HNC:foot bracket type
a FNC:front & rear flange type
St S8 Thrcugh SNCB:double clevis type
o1/4 i Through SNCL:single clevis type
BiB Through
O3 Through
1088 Through

12 PAGE XUANAO PNEUMATIC

XUANAO PNEUMATIC PAGE 13



® it
XAKJ #B=

CQ2E RIS CQ2 compact cylinder

cQ2 L] B

l RS

caz:ERR

CDo2: M B E

Serias vale

CO2:without built-in
magnet type

CDQZ:with buill-in
magnet type

e

l EEF R l
ZHRHF
WL
Rod farm
Blank: Single pole
W: Double pole

.--"/

SER

4050 — D M
E3 e l HEE < FE l IR l i 5
Bl FLE ML Bore x stroke DR hE FHAEMS LR
(dRiE ) SR M 88 5h 4 &
Installation Type T8 h(HiEE) C:H#EEm
B: screw hole and bath ends of Action type * B B SR A kL I i
the comman (standard) D:double acting Options

SDA# &I S &I SDA compact cylinder

S:single acting

(spring return typr)

T:single acting

(spring stretched type)

Blank: Rod end femala thread (standard}

M: Rod end male thread

C: Rubber buffer

* Single actien eylinder can not increase the rubber buffer

SDA

l RS
SDAEHY
SDAD: T R
SDAJTRFTRR
SDAT: E{T MM 3
Saeries vale
SDA:baslc type

s

l BERS
4= RE
SiMEE
Built-in magna
Blank: without
Siwith

SDAD:both sides piston rod type
SDAJ:both sides piston rod type(one side adjustable)
SDAT: multi-position Double Action

\

4050 = B
l L {72 l L
Bore x stroke d=Hul fog
BihaR i
ts N:FTH &

MALfR & & # (RS EL MAL Aluminum Alloy Mini Cylinder

Raod end thread
Blank: Female

B: external thread
N: Mo thread

MAL

l RHS
MAL: 8%
MALD:TE )
MAL TS TR
Series vale
MAL:double-acting type
MALD:double rod type
MALJ:double rod type

(one side adjustable)

CM

x otk
THERER
CM:ERED
USFRR
Cover type

32X50

l S < {72

Bore x stroke

Blank: wagging tail type

CM: Round-tailed

U: Flat-tailed

- S - FA
l BERE i [ElE M=
BT TEEFR
SHEE AT 2 T S 22
Built-in magnets FEE&EEXIREE)
Blank: without LB:EIES

S:with

Mounting type
Blank: basic type

FA:front flange type
FB:rear flange type
LE:foot bracket type

14 PAGE XUANAO PNEUMATIC

XAKJ #8851

https://yaxakj.1688.com

MAFREEHA{RSEL MA Stainless Steel Mini Cylinder

MA CM Srdnys =y = FA
l A= l EEEF l HL#% o §THE l HEHRE l HESR
MA A TaERR Bore = stroke W E A TEEFE
MAC: E i mha cMERR SIHER FARI % B B ES)
MAD: TEEFY U ERE Built-in magnets FBEREERIGEE)
MAJ: TR TR R Cover typa Blank: without LB:Mpaest
Series vale Blank; wagging tail type Siwith Mounting type

MA: Double Action

MAC: Double Action buffered
MAD: two axle

MAJ: Double Adjustable

CM: Round-tailed
U: Flat-tailed

Blank: basic type
FA:front flange type
FB:rear flange type
LB:foot bracket type

SER5

Cylinder series

.l

CR2AFEIPHA{RSEL CJ2 Stainless Steel Mini Cylinder

CJ2

l E3 R
CJ2:E#E
ChDJ2: i MR
CJ2D: T
CJ2): W a R
Series vale
CJ2: Double Action

l 233
B:EER
FArdE==
L - o ey e BY
D30 35 BY(B% b 6)

Installation Type
B: Basic

CDJZ: Built-in magnetic-type  F: Rod side flange style
L: Axial foot type
D: Clevis type (except ¢ 6)

CJ20: axis-typa
CJ2J; Double Adjustable

CM2FE5 {1 S i CM2 Stainless Steel Mini Cylinder

cM2

l CM2:E MR
COM2:# a8 TR Y
CM2E:-Z e
CM2BD: T $RE
CM2B): R RE
CM2:without buli-in magnet type
COMZ:with buit-magnet hype
CM2E-doubie-acting lype
(CM2B0rdoubie rod hype

CM

i BEIN
FRERD
CM:EREY
UrES

Rear covar type

Blank: single clevis type

CM:reund end type
Uiwithout end type

(CM2BJ:double rod bype [one side adjustable}

o
o

S

CJPB (#{EH) $1BIS L/ CJPB (Single acting) pin cylinder

CcJpP

l ERg
CJPB: I %R
CJPS:HERY
Series vale
CJPB: Panal Mount
CJPS: Built-in mounting

A8

10X5 =

l B« {TH

Bore x stroke

10X25 = S
L i iTE l BhiFst
Bore x stroke D:REhE
SIS
T8 Eh (L)
Action lype

D:double acting
S:single acting

(spring return typr)
T:single acting

(spring stretched type)

2050 = D -
t HE«iTR l fuki3 -
Bara x stroke D:Ezn®
S8 Eh{ T4 )
TS Eh( R )
Action typs

D:double acting
S:single acting

(spring return typr}
T:single acting

{spring stretched type)

FA

t EE R
EHEEE
FARE B E (T =)
FEIREEEXRIGELS)
LB:BRE
Mounting type
Blank: basic type
FA:front flange type
FB:rear flange type
LB:fool bracket type

-~
o

l Framm e
ZaERE
BEdar
Rod end thread
Blank: threaded
B: Unthreaded

XUANAO PNEUMATIC PAGE 15



XAKJ w85

https://yqxakj.1688.com

SER

Cylinder series

CXSMAAH= KT CXSM dual-rod cylinder

l IS i WEwE l & x {7
CXxs:mEmsha -5 i R Bore xstroke
Series vale L- RN F E R 10
CX5: dual-rod double acting Bearing Typa ig

M- Bearings 20
L- Ball Bearings 25
guide 32

L]

l MEFRIT
=B i 2
Magnetic Switch Model
Blank: Mo magnetic switch

TN(TDA)RUHS AL TN(TDA) dual-rod cylinder

TN 25X50 = S
l E l & xiTH l wEAS
TNl 8 23 Bore xstroke =2 6 B
TND B R S:t#a
Series vale Built-in magnets
TN: Double Double Action Blank: without
TND: Dual-axis type S:with

CUZ{BZERSHEL CU multi-position installation cylinder

cbu L] 10X25 —
l RIS l AR l SIS « T2
Cudrfdl =% 5] Bore x stroke
Cou:f BmERa K REf iE R 4T
Serles vale Rad form

MD:Standard type
CDU:with built-magnet type

Blank: Basic type
K: non-rotating piston rod

MOB32%J;iy# [E&I MOB Light oil hydraulic cylinder

D
l AFR T
D:REE -—
S5 gh( T & EY)
T EH(F IR Xax,
Action type vy

D:double acting
S:single acling

{spring return typr)
Tisingle acting

{spring stretched type)

Ji
D

MOB = B = 50X50 =
l RIS l B-fifa l B x {738
MOB: R L1 -3 i #F 81 Bore x siroke
Series vale L-{TREAT#HE

MOB:Middle-low pressure B - Standard type

L1 - Double rod type
L- Stroke adjustable type

HOBZE&/;ii%& [E &I HOB Heavy oil hydraulic cylinder

CA

l CA-HREFA
FA-H] #2350
FB-B#&E=®
LE-M#HEA
TC - thidFEshst
CA- Single earrings type
FA- Front flange type
FB - Rear flange type
LB~ Tripod type
TC - Middie swing type

HOB - B = 63100 =
l mAlE l B-fFER l % = {7
HOB:# 8 L1 -S43 Boraxalroke
Series vale L-{TIE A&

HOB:Middle-high pressure B— Standard type

L1~ Double rod type
L- Stroke adjustable type

CA

l CA-BEERT
FA-HIE=H
FB- BiZs
LB-jg5st
TC - PEEsh
CA- Single earrings type
FA- Front flange type
FB - Rearflange type
LB~ Tripad type
TC - Middle swing type

16 PAGE XUANAO PNEUMATIC

XAKJ #8851

https://ygxakj.1688.com

2V R 5 f i R

2V Series Solenoid Valve

4V F 5| B 5

4V Series Solenoid Valve

Bl SModel

2V025-06
2V025-08

4V110-06
4\V210-08
4V310-10
4V410-15

4M 7R 5 B B R

4M Series Solenoid Valve

3A/AASER

3A/4A Gas control valve

(5 o

—
P
L

3R/4R R3| FH A

3R/4R Series Hand-draw Valve

Ik, &

& EModel

4M110-06
4M210-08
4M310-10
4M410-15

3A/4A110-06
3A/4A210-08
3A/4A310-10

3A/4A410-15

B SModel

3R110-06
3R210-08
3R310-10
3R410-15
4R110-06
4R210-08
4R310-10
4R410-15

G118
G114

G118
G1i4
GaB
G1/2

G1/8
G1i4
G38
G112

Bl EModel
3A/4AT10-ME M5

G118
G114
G3B
G122

18
14
kl-S
12
18
14
a8
12

3V1 AR5 R ER

3V1 Series Solenoid Valve

&0

4V R 5 iR

4V Series Solenoid Valve

AM R 51 i R

4M Series Solenoid Valve

3V1-06
3v1-08

4V120-06
4V220-08
4V320-10
4V420-15

& SModel

4M120-06
4M220-08
4M320-10
4M420-15

N ?
A o
3A/4ASER

3A/4A Gas control valve

3H/4H R 5 F iR

3H/4H Series Hand—pull Valve

e,

3

G118
G4

G118
G1/4
Gas
G112

G118
G114
G318
G112

& EModel
3AMAA120-M5 M5

3A/4A120-06
3A/4A220-08
3A/4A320-10

3A/4A420-15

#SModel

3H210-08
3H310-10
3H410-15
4H210-08
4H310-10
4H410-15

G118
G4
G3nB
G112

3V A5 R

3V Series Solenoid Valve

4V % 5] o fi i

4V Series Solenoid Valve

4M 7 51 L A

4M Series Solenoid Valve

F il i % 5l

Solenoid valve series

& SModel

B SModel

3V110-06 G118
3V210-06 G4
3V310-10 Gas
3V410-15 G122

4V130C-06 Gl8
4V230C-08 G4
4V330C-10 Gas
4V430C-15 G2

4M130-06 G1a
4M230-08 G4
4M330-10 G338
4M430-15 G122

e
? ;
=$.. '
o
1 ‘ ‘
2
T

4A Gas control valve

HV/DHV R5IF¥ A

HV/DHV Series hand-switching valve

4A130-M5 M5
4A130-06 G118
4A230-08 G114
4A330-10  G3aB
4A430-15 G112

B SModel

HV-02 G1/4
HV-03 G3/8
HV-04 Gi/2
DHV-08rEssihantsen)  Gi1/4
DHV-10w#2# hardseal)  G3/8
DHV-15@28 hard seal)y  G1/2

XUANAO PNEUMATIC PAGE 17



XAKJ —5
5t 38 = 7] < 9F & 2 % 5
hitps://yaxaki1688.c0M 8~ Airsource treatment series |

® e
XAKJ aBsI PUE . MEE. KL
8 PUpipe, springpipe, blowing dust gun_

https://yaxakj.1688.com

e T e per— e o ey
Three unit(SMC type) AC2000-02  Gi4 Two unitiSMC type) AC2010-02 G4 Filter regulator(SMC type) AW2000-02  c1i High imitation air guns AR-TS(A/4 &) Air guns AR-TS(/EE &) Alr guns AR-TS(AE/H &)
AC3000-02 G114 AC3010-02 G4 AW3000-02 G4 (short/ red) (short / blue) (short / yellow)
AC3000-03 GaB AC3010-03 GaB AW3000-03  GaB AR-TS_L(K/I ) AR-TS_L (/M5 1) AR-TS-L(/& &)
AC4000-03 Gas AC4010-03 G3B AW4000-03 GIB (leng /red) (long /blue) (long / yellow)
AC4000-04 G2 AC4010-04 G2 AW4000-04 G2
AC4000-06 G34 AC4010-06 G4 AW4000-06 Gas -
AC5000-06 Ga4 AC5010-06 G4 AWS5000-06 G4 .
AC5000-10 AC5010-10 _G1 : AW5000-10 1 _* h - %

iy 3 / o I 2Model , Bl EModel

=5 i3 B #(SMCE) MBS (SMCH ) i B(SMCR) & SModel e DG RFIK L4 NPN %50 &

Air filter(SMC type) AF2000-02 G14 Lubricator {SMC—type] AL2000-02 G4 Regulator (SMC-type) AR2000-02 G4 Ao i AG-07(3E/% &) DG Series air guns _ DG-10 NPN Series air guns NPMN-989
AF3000-02 G4 AL3000-02 G4 AR3000-02 GiM (short/green) NPMN-989-1

AF3000-03 Gas
AF4000-03 G38
AF4000-04 G122
AF4000-06 G34
AF5000-06 Ga4
AF5000-10 &1

AL3000-03 Gas
AL4000-03 Gas
AL4000-04 G2
AL4000-06 G34
AL5000-06 Ga4
AL5000-10 @1

AR3000-03 Gas

AR4000-03 Gas

AR4000-04 G2

AR4000-06 G3M - e
AR5000-06 G4 e
AR5000-10 G1

AG-07-L({c/& &)
(long/ green)

N

= = e :
;,f ﬂfﬁﬁ] AC2000  GU4 aﬁfﬂﬂf;ﬁwﬁ;ﬂ] AFC2000  G14 f&iﬁ%ﬁf&ﬁil AFR2000 G4 i#t OPUE(1003) ﬂ‘"‘"' PU(95%) Pu tubetoom ﬂde' PU%(853) PU tubeigsm) 4 de'
BC2000 G4 BFC2000 G4 BFR2000  G14 imported PL usbal 100} Ax2E B&Eo%r- ié& ﬁdﬁ'ans ey o il
BC3000  G38 BFC3000  GaB BFR3000  G8 ey s s Ene oy .
BC4000  Gi2 BFC4000 612 BFR4000 G2 et S e
8x5 12x8 12x 8
i 8x55 14x10 14x10
= 10%6.5 16 x 12 16x12
¥ k 2 12x8
14x 10
16x 12
. : AEREAED
b i B o T TN e e o i By T T oo AR2000 G EPER e PR 1 5 B ) LTI ehemme ——
BF2000 G4 BL2000 G4 BR2000 G4 il Exd e ax1 100m ;";" t;be fcomoston) ax1 100m
BF3000 G BLabo8 S BR300 Gxe Bbor fon Bhie, i 8x5 e 6x1 100m Color: Black 6x1 100m
BF4000 G2 BL4000 G172 BR4000 G2 S e 100m 8x 1 100m
128 10x1.25 100m 10x1.25  100m
10x1.5  100m 10x1.5  100m

12x1 100m
12x 1.5 100m
14x 1.5 100m
14x2 100m
E = 16x2 50m
18x1.5 50m

12x1 100m
12 x1.5 100m
14x1.5 100m
14x2 100m
16x2 50m
18x1.5 50m

=T

o

W it i 88 BMode! t
Two unit SFC200 Filter regulator SFR200 Filter SL200 PU $RiE i & 8 ol 6m i#OPURE 8 o a— 6 REE 25}:# ﬁ
SFC300 SFR300 SL300 PU spiral hose x5 Imported PU tube x5 m Cooling pipe LN
8x5 am 8x5 9m 2 round mouth, flat mouth
SFC400 SFR400 E; SL400 5o 12m NE v SER. B
8x8 15m 8x8 15m ""‘M 3roundmouth, flat mouth
10x6.5 6m 10x 6.5 6m resnpaentanennt e 4B, R
10x6.5 am 10x6.5 9m M 4 round mouth, flat mouth
10x6.5 12m 10x6.5 12m HIFFESERE. R
) 10x6.5 15m 10x6.5 15m 2 sub round nozzle with switch
12x8 6m 12x8 Bm WL R, B
12x8 9m ‘" < 12x 8 9m 3 sub round nozzle with switch
12x8 12m 12x8 12m B XA E . R
128 15m 12x 8 15m 4subround nozzle with switch

18 PAGE XUANAO PNEUMATIC XUANAO PNEUMATIC PAGE 19



